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Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 966231343
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 9662318035 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Sorme letters are numbered as 1, 2, 3, 4, & and &. In the options, four possible arrangerments of these nurmbers
are given. Choose the option 50 that the letters form a meaning ful word.

PAMSIH
122456

Options:

1. % 321654
= % B23451
3. ¥ 354621
4. % 523641

Question Number : 1 Question Id : 9662318035 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FTAERI @1, 2, 3, 4, 5 oK 6 FAE gy M7 71 dwed 8, 59 deamat & O ST saaen] of 75 8] 39 e’ 3 oa" &
T STEW T HRde g o aon

PAMSIH
123456

Options:

1. % 221854
2 % B23451
2. ¥ 254621

4. % 523841

Question Number : 2 Question Id : 9662318036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain manner. Howewer, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

1. % WAE
z % JNE
3. % THEE
4. ¥ LP3

Question Number : 2 Question Id : 9662318036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % WaE
2 % JNR
3. % THE
4 ¥ LPS

Question Number : 3 Question Id : 9662318037 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain manner. Howewer, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

1. ® Crange

= % Apple

2. % Watermelon

4 % Banana

Question Number : 3 Question Id : 9662318037 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ﬁ{qn%ﬁaﬁ—nﬁﬁﬁ 1 Ter TS Foie & W 51 §TAlh, U [ded ST o 14 1 a¥g Al 51 39 e o7 == & =1 arehl &
ATETT

Options:
1. % quaft
2 %
3% e
4. & Far

Question Number : 4 Question |d : 9662318038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the option that is related to the third terrm on the same basis as the second term is related to the first
TErTIL

APW DSY o EWE 7
Options:

1. % WAG

= ¥ UZE

3. ® UHF

4. % VEG

Question Number : 4 Question Id : 9662318038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
9 e T =z B ST 6 UG I A Hald e WE H UgET 0 g U o Helldd gl

APW DSY S RWE 7
Options:
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1. % VAG
o ¥ UZE
3. % UKF
4. % YVEG

Question Number : 5 Question Id : 9662318039 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If blue is red, red is orange, orange is green, greern is vellow, then what 1s the colour of blood?

Options:

1. % red

2. % yellow
2. ¥ orange
4. % green

Question Number : 5 Question Id : 9662318039 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ofe H1eT AT &, FT AR 5, AR 50T 5, 57 UleAT &, a7 T &1 L7 F47 57
Options:

1. % &

2 ® diFr

3. ¥ Rt

4 8 g

Question Number : 6 Question Id : 9662318040 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
If FAITH is coded as IDLWI, then what will GLOEE be coded as?

Options:

1. % INRFH
2. % JOSDH
3. % INGDG
4. ¥ JOREH

Question Number : 6 Question Id : 9662318040 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Iie FAITH & IDLWE & &9 # ®ifza oy 9mr 8, 91 GLOEE & 3 St i [

Options:
1. ¥ [NRFH

= ® JOSDH
3. ¥ INODG
4 % JOREH

Question Number : 7 Question Id : 9662318041 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If vou are on 13th place in a queus starting either end, then how many people are standing in the gqueus?


https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

dtab

Options:
1. % 13

2 % 21
3. 25
4 % 28

Question Number : 7 Question Id : 9662318041 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Iie T Tt FaR A TWE & 13 d ®IF W 5, 97 36 F9 H Tora AT &2 57

Options:
1. % 13

2. %21
3. ¥ 25
4. % 26

Question Number : 8 Question Id : 9662318042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Eead the given statement and conclusions carefully. Assurming that the information in the statement is true,
evenl if they appear to be in variance with cormmonly known facts, select which of the conclusions logically
followis) from the staterment beyond reasonable doulbt.

Staternents: -
[. &l] cats are dogs.
II. Mo horse 15 a dog.

COonclusions: -
I. Some cats are horse.
II. Mo dog 15 horse.

Options:

1. # Only Conclusion [ follows.

2. ¥ COnly Conclusion I follows.

2. # Neither of the conclusion follows.

4. % Both conclusion [ and II follows

Question Number : 8 Question Id : 9662318042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

oy T T Y T ] @ A | U O A 59 9 e H ST TE AH@ T 9o 5, el 51 o AT FF T2 o 91T e
T U TSETE 3 51, 39 T oy o wpd Hdg & U 39 T BT A1 €7 § TJE 3]

CRIE

1. &t Taiferat e 2]

II. 18 ST FaT T3 8l

e -

1. 77 Wieear aig

II. 18 Foll TIST 5 ol

Options:

1. % et Tomept 1 SI{eRT &ear 3
2. ¥ e T 11 argeR #9747 5l
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Question Number : 9 Question Id : 9662318043 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Cut of the given options, three are simmilar in a certain manner. However, one option is MOT like the other three,
Select the option which is different from the rest.

Options:

1. % 512
2 ® 729
3. ¥ 144
4 % 3243

Question Number : 9 Question Id : 9662318043 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

%qn%ﬁ'cﬁﬁﬁﬁ A T Tl Fier & T 2 §TAl, U fded ST o 14 1 a¥g A5l 51 39 e @1 == & a1 a1l &
ST

Options:

1. % 512
=z ® 729
3. ¥ 144
4. % 243

Question Number : 10 Question Id : 9662318044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Selact the option that is related to the third numtber on the same basis as the second nurmber is related o the
first nurmber.

243497297

Options:

1.% 3

2 % 312

3. ¥ 31

4 % 243

Question Number : 10 Question Id : 9662318044 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

=9 Telepe T e e ST o T HET § IH HET | Helldd § e U S e S Uge | Sl § Helred gl
342497297

Options:

1. %3

2 % 312

3. ¥ 81

4 % 243
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Question Number : 11 Question Id : 9662318045 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which two s12ns should be interchanged to make the below equaticon mathernatically correct?

1d-Z2x=2=14+32=2=2
Options:
1.9 -,
2 % -

3% 4, -
4 %+, =

Question Number : 11 Question Id : 9662318045 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR T T T S I € | W@l e o Ty T 2 g @ I S I @t A

14-2=x2+14+2=22
Options:
1.v -,
2% - W

3% 4, -
4 % 4+ =

Question Number : 12 Question Id : 9662318046 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which two numbers should be interchanged to make the below equation mathematically correct?

15 x2)+4=x6-10=10
Options:

1. % 15,4

2 %2, 6

2. % E,10

R EN:

Question Number : 12 Question Id : 9662318046 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
et TaT T S I € & TR T o o T S STt @ T I [T AT aTie

1S x2)+4x6-10=10
Options:

1. % 15,4

2. %2 B

3. % E,10

4.9 4 8

Question Number : 13 Question Id : 9662318047 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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TraferaT T St § Tae ey 959 F:40

-54, 63, -72,
Options:

1. % -581

= ¥ 31

3 % 34

4 % -84

——————

Question Number : 13 Question Id : 9662318047 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the missing nurmber in the following nurmber series.

Options:
1. % 51

= ¥ 31
3. % 24
4 % -84

Question Number : 14 Question Id : 9662318048 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The average age of a group of € people is 48 years. If one mermber from the group is excluded, the average
becormnes 45 years. What is the age of the member that was excluded?

Options:

1. % 50 years
= ¥ B3 vears
% ® 5D vears
4. ® 52 vears

Question Number : 14 Question Id : 9662318048 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& ST o g 1 ofT6T I 48 a9 8 e Tg & UF Gaed B a5t (a1 AdT 5, 97 16T 45 T4 51 A1 31 367 Heed & 1 747
o T AR TRET T A

Options:
1. % soaf

o o 53 af
3 % 5o
4 #® g2 af

Question Number : 15 Question Id : 9662318049 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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In the following figure, square represents Americans, triangle represents astronoimners, circle represents
physicians and rectangle represents men. Which set of letters represents mern who are physicians?

B

Options:
1.%1

= % EH
3. % FE
4. ¥ GE

Question Number : 15 Question Id : 9662318049 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TgieTET agte H, v Sl & Wid (I eed @l &, T FIIATa] @7 0id = ece 0T &, I Ihote! o1 Hid (Teled @ear
% T TIT QU T Wi HTeled FaT 21 571 1 P4 91 6 39 G211 0id ieed #a1 g A1 iidea® 87

B

Options:
1. %1

= % EH
3. % FE
4. ¥ GE

Question Number : 16 Question Id : 9662318050 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Two men Arnan and Sailesh were riding a bicycle from the same starting point. Aman rides € km north, then
turns left and rides 5 km, then turns to his right and rides 2 km. Sailesh rides 8 km west, then turns right and
rides 9 ki, then turns to his left and rides S km. Where is Sailesh now with respect to the current position of
ATTIATLY

Options:

1. % 5 kmeast
Z % B lareast
3. ¥ B lar west
4. % 5 lar west

Question Number : 16 Question Id : 9662318050 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % Skmyd
2 % Bk
= ¥ 8 km Ui
4. % 5k U

Question Number : 17 Question Id : 9662318051 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following cubes in the answer figure CANMNOCT be made based on the unfolded cube in the
question figure?

L

| X
L]

Options:

Question Number : 17 Question Id : 9662318051 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 18 Question Id : 9662318052 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following answer figure completes the series of the question figure?

© A V
A p ! 4
(4 e D
Options:
e
p
IWE {]
=
, x| D
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Question Number : 18 Question Id : 9662318052 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25
AT & & & | 30 AT U ST AT B O da [ gy

© A
X

%

X
e b

B Vv

=

D

Options:

1_%@

X

A O

®
S

%

I

= of

4.WCD

A N A o |V

Question Number : 19 Question Id : 9662318053 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25
Which answer figure will complete the pattern in the question figure?

ol

n

Options:
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Question Number : 19 Question Id : 9662318053 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25
I T IO SRS W ST Td e 8 B 1 O Hafr?

ol

n

Options:

\“
1 =

N

\

|~y
3 #® J
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Question Number : 20 Question Id : 9662318054 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25

From the given answer figures, select the one in which the question figure is hidden fembedded.

Options:
1 ®

>
g o i
3%
4 %

Question Number : 20 Question Id : 9662318054 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25

ST T JEC SIpTAl H ¥, I U BT = B e e g i 8

Options:
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General Awarensss

Group Number : 2

Group Id : 966231195

Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit? : No

Break time: 0

Group Marks: 20

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

erleral Awareress

Section Id : 966231310
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number : 1
Sub-Section I1d: 966231344
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 9662318055 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
with which of the following states Duffrmuttu dance is associated?
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A,

Options:

1. # Rajasthan

2. ¥ Kerala

3. % Assam

4 % Himachal Pradesh

Question Number : 21 Question Id : 9662318055 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
SHYE 7o THEieed # T T o J e R

Options:

1. % Teree
o o A

3 % amA

4, % TEHER 0

Question Number : 22 Question Id : 9662318056 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
with which of the following state is Maand folk music related to?

Options:

1. ¥ Rajasthan

2. % Arunachal Pradesh
Z. % Uttarakhand

4. % Goa

Question Number : 22 Question Id : 9662318056 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TafofaT & & o v o anr 71z @i aTiia GareaT 57
Options:

1. & TrEEH

= R STEUTEE T

3. % TmmEs

4. % TMEr

Question Number : 23 Question Id : 9662318057 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Shigmo festival, which talkes place in the Phalguna month, is associated with which of the following states?

Options:

1. # Maharashtra
2. % Harvana

= v Goa

4. % Tripura

Question Number : 23 Question Id : 9662318057 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % gy

o, % gl

z ¥ TET

4 % g

Question Number : 24 Question Id : 9662318058 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhen was Export-Import Bank of India established?

Options:

1.9 Jan 01, 1982

2. % April 28, 1985
% % March 15, 1980
4, % May 01, 1982

Question Number : 24 Question Id : 9662318058 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TUFAUE - SIS s 3TF & 122 S T0T el 31 TS 217
Options:

1.9 01 F9aer 1982

2. % 28 afe, 1985

3. % 159, 1980

4 % 01 @mg 1983

Question Number : 25 Question Id : 9662318059 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich among the following is a tax imposed on all foreign exchange transactions?

Options:

1. ® Corporate tax
2. % Excise duty
2 ¢ Tobin tax

4, % Pigovian tax

Question Number : 25 Question Id : 9662318059 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TratatT & & ®9 ar ot EE st ger siae w e A v w1 g7
Options:

1. ® Fle 3

2 % IoUg O

2 ¥ T #

4 % fumifdes @

Question Number : 26 Question Id : 9662318060 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks: 1 Wrong Marks: 0.25
Wwhat is the 5.1 unit of force?

Options:

1. % galileo
2. ¥ newton
3. ® darcy

4, % ampere

Question Number : 26 Question Id : 9662318060 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TA BT 5] THE FAT 57

Options:

1. ® Tettemr

2.V e

3 % ZmEr

4 ® iR

Question Number : 27 Question Id : 9662318061 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Thoracic is the part of the

Options:

1. % Skull
2 ® Chest
3. ¥ Spine
4 % Arm

Question Number : 27 Question Id : 9662318061 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
SNk 1 e &l

Options:

1. % mmst

2 ® gl

3. ¢ B dHrggl
4 % gg

Question Number : 28 Question Id : 9662318062 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following rivers has a tributary named "Tungabhadra"?

Options:

1. % Krishna
2 ® Mahanadi
3. % Narmada
4 % Ehima
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A,

Question Number : 28 Question Id : 9662318062 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Terafera & & Ty wTT T " TTgT T Y O ST 37
Options:

1. & gmy

2. % mErEl

3. % Fdar

4 % o

Question Number : 29 Question Id : 9662318063 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which of the following states is the Kadra Dam located?

Options:

1. ¥ Karnataka
o % Assam

% % Maharashtra

4. # Gujarat

Question Number : 29 Question Id : 9662318063 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fo (] ey HEieET # | e e | e g

Options:

1. ¢ Fdizw
2. % @A

3. ¥ mEE
4 % TRIT

Question Number : 30 Question Id : 9662318064 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which among the following mountain ranges is located in Africa?

Options:

1. % Drakensburg
2. % The Alps

%. % The Rockies
4 % The andies

Question Number : 30 Question Id : 9662318064 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tgieiad o & @1 91 veld s anb i o e 27

Options:

1. Zedeani
2 ® e
3 ® g
4 % R
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Question Number : 31 Question Id : 9662318065 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When was the Indian Independence League found?

Options:

1. % 1925
o ¥ 1928
3 % 1921
4, % 1935

Question Number : 31 Question Id : 9662318065 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
WA 7 Tl AT HTT T ST el B8 17

Options:

1. % 1925
= ¥ 1928
3 % 1921

4 ® 1935

Question Number : 32 Question Id : 9662318066 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
who was the founder of the MNanda Dynasty?

Options:

1. # Kaivarta Nanda

2. % Panduka Nanda

Z. ® Dhana Nanda

4. ¥ Mahapadma Nanda

Question Number : 32 Question Id : 9662318066 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e T4 T FEITIE P 977

Options:

1. % &ad Ag

2. % gigET g

2 % gAreg

4 ¥ gEIg Ag

Question Number : 33 Question Id : 9662318067 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The farmous Shalimar Bagh in Srinagar was built under the rule of

Options:

1. ® Azam Shah
2. ¥ Jahangir

= % Humavun
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A &
Addal247) ooge -y
4. % Albar

Question Number : 33 Question Id : 9662318067 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT o Mg, TR THTE &It
Options:

1. % yr=m ang

2. ¥ SRt

s % A
4 B At

& AT W /=TT T ST

Question Number : 34 Question Id : 9662318068 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Where 15 World Trade Crganisation (WTO) located?

Options:

1. ® pustralia
2. % New York
Z. % China

4. ¥ Switzerland

Question Number : 34 Question Id : 9662318068 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TepeT =TI FTa (WTC) FET T80T 27
Options:

1. % et

2 % Ay

3 % W

4 ¥ T

Question Number : 35 Question Id : 9662318069 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which amorng the following is the third highest civilian award in the Republic of India?

Options:

1. ® Bharat Ratna

2. % Padma Vibhushan
=. ¥ Padma Ehushan
4. % Padma Shri

Question Number : 35 Question Id : 9662318069 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaiRET # @ B A7 9 = R 7 3 6 Faig AT w87

Options:
1. % yra i

2. % oy T
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3. ¥ IET T
4. % garaft

Question Number : 36 Question Id : 9662318070 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which was the only arnendment to be unanimously adopted by the Parliarment?

Options:
1. % 9z
= % 71
3. ¥ 52
4 % g1

Question Number : 36 Question Id : 9662318070 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TH ZNT AeeH i & ST ST 16T TEHTS SaTre @i |7 417

Options:
1. % g2
2 % 71
3.V E2
4. % g1

Question Number : 37 Question Id : 9662318071 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The concept of '"Zabinet systern' of the Indian Constitution is borrowed from the constitution of

Options:

1. # Australia
= % Canada
2. * Ireland
4. % Eritain

Question Number : 37 Question Id : 9662318071 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ATCE 1 AT &l ‘Siee e @i STeremT o T2 & S/TE TS 21

Options:

1. % et
. % FaET

3. ¥ yqEHE
4, ¢ e

Question Number : 38 Question Id : 9662318072 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The schedule of the Indian Constitution contains Rrovisions for the Administration of Tribal Areas in

the States of Assarmn, Meghalava, Tripura and Mizorarm.
Options:
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1. % Twelfth
2. % Tenth
Z. % Fifth
4. ¥ Sixth

Question Number : 38 Question Id : 9662318072 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A e AT # SR # ard, Fanera, TR o e vt & S T T 3 WA & AT A

Options:
1. % gt
2 % gEdf
3 % ghEr
4 ' whr

Question Number : 39 Question Id : 9662318073 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which among the following tearns were the first one to win the FIFA World Cup?

Options:

1. ¥ Belgium
2. ¥ Uruguay
3. ® Germany
4. % France

Question Number : 39 Question Id : 9662318073 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
e Wt | & e fore w0 Siia- anel aget F R 4t i

Options:

1. % g
2 o g
3 % S
4 % mE

Question Number : 40 Question Id : 9662318074 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwho among the following female players has won the most French Open Singles title?

Options:

1. ® Steffi Graf

2. % Serena Williams

= % Martina Navratilova

4 % Chris Evert

Question Number : 40 Question Id : 9662318074 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafeiET # & o AfeaT AT o T Srfie e SIioe Uaha a1 wia1 a7
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Options:

1. ® e
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Question Number : 41 Question Id : 9662318075 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& man has Bs. 220 in coins of Rs. 1, Bs. S and REs. 10 The number of coins of each denomination is equal.

what is the total number of coins he has?

Options:
1. % 15
2 % 45
3. % 30
4. ¥ G0

Question Number : 41 Question Id : 9662318075 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % 15
o % 45
3 % 30
4. ¥ G0

Question Number : 42 Question Id : 9662318076 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat is the greatest number of 4 digits which is divisible by 12, 20, 80 and 727

Options:

1.9 9720
2. % 9540
% % 9960

4 ® 9800

Question Number : 42 Question Id : 9662318076 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
4 2T T Haw ol e w4 g A7 12, 30, 60 % 72 ¥ Evew 87

Options:

1.9 9720
2. % 9540
3. % 9960
4, % 9500

Question Number : 43 Question Id : 9662318077 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

what will be the eventual bank balance when a deposit of Rs. 820.47 and a withdrawal of Bs. 726 .91 is made
to an account balance of Bs. 610,277

Options:

1. # Rs. 620.83
o % R 650.82
% % Rs. 685.83

4 ¥ Rs 703.83

Question Number : 43 Question Id : 9662318077 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T G4 H 520,47 508 07 F A 72691 B0 T Rt e affgw S aweiE g gl ofe 368 610,27 w0l @ ey 27

Options:

1. % 62083 v
2. % 650,52 ¥
3. % 685 83 ¥
4 & 70383 ¥
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Question Number : 44 Question Id : 9662318078 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& man covered a distance of 18 kmin 3 hours, 7.2 kimin 2 hours and 15 kmin 5 hours. What is his average
distance travelled per hour?

Options:

1. % 262 km
2 % 282 km
2. ¥ 402 km

4. % 422 km

Question Number : 44 Question Id : 9662318078 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T AEAI T3 B¢ H 18 kary, 2 U H 7.2 kay #€ 5 W H 15 kary &7 g8 97 1 I8k ERT Wi W ATAT bl T8 ST GOT ol 37

Options:

1. % 362 km
Z % ZEZkm
3. ¥ 402 km
4. % 427 km

Question Number : 45 Question Id : 9662318079 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A good is marked up by S0%, at most how rmuch discount can be allowed S0 as to rieither have a gain nor a
loss?

Options:

1. % 375 percent
= % 3333 percent
3. % 40 percent

4. # 50 percent

Question Number : 45 Question Id : 9662318079 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e Seq 1 R IAT & S0% ST T iigd T AT 3, Herel STerh T §e 1 SgHid of A1 @ [ ¢ q1i 9 a1 A 51 i 5T
RELICE

Options:

1. % 375 A

2 ¥ 3333 nida

3 % 40Ul

4 # Souldad

Question Number : 46 Question Id : 9662318080 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The population of a town increased frorm 120000 to 165000 in a decade. What is the average increase of
population per year?

Options:
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1. % 0.035
2. ¥ 00375
3. % 00425
4. % 0.045

Question Number : 46 Question Id : 9662318080 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T Ttel 1 Talle] U 24 § 120000 & 938 165000 §T e Ui O Fa=ar & 19T ghy 727 57

Options:

1. ® 0.035
= ¥ 00375
3. % 00425
4. % 0045

Question Number : 47 Question Id : 9662318081 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In an election between 2 candidates, one got 27.5% of the total valid wotes, 20% of the total votes were invalid.
If the total number of votes were S0000, how many valid votes did the other candidate get?

Options:

1.9 25000
2. % 32500
3. % 27500

4. % 20000

Question Number : 47 Question Id : 9662318081 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

2 TR & S 57 UE o UF @ e d et § ° 37.5% T 0, e diel w1 20% a7 am It aret & e g
sooaoaﬁﬁ@%mﬁmﬁ%ﬁgﬁﬁ? 3 ¥

Options:

1. % 25000
2 % 22500
3. % 27500
4 % 20000

Question Number : 48 Question Id : 9662318082 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Two students appeared for an exarmination. Cne of them scored 20 marks more than the other and his marks
was 0% of the sum of their marks. What was the total marks obtained by them?

Options:

1. % 100 percent
= % 125 percent
3. # 120 percent
4. % 110 percent
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Question Number : 48 Question Id : 9662318082 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1.9 100 uidem
2. % 125 Ofdad
3. % 120 O
4, % 110 OfdaT

Question Number : 49 Question Id : 9662318083 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

120 fruits are bought for Bs. 1200 and sold at the rate of Bs. 180 per dozen. What is the gain or loss
PErCentage’

Options:

1. % S0% gain
2. ® S0%loss
3. % 25% gain
4 % 5% 1055

Question Number : 49 Question Id : 9662318083 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
120 Helt T 1200 F0 § |a AT 5 1T 180 202 Ui T 61 2% & &= A7 51 ATH I7 5114 Wi 4 &7 57

Options:
1. % S0% &Ry

2. % S0% ET

S % DC%E

4, % 5% ETH

Question Number : 50 Question Id : 9662318084 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If Rs. 1410 is to be divided into three parts, proportional to 1/3:1/4:1/5, then what is the value of the first
part?

Options:

1. ®¥ Rs. 420
2. % Rs. 450
3. ¥ Rs. 600

4. % Rz 720

Question Number : 50 Question Id : 9662318084 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

af 1410 TF &1 1§31/ 4: 1S o argad & 1 90t o Terariag Rram 4 &, 37 U5l 907 7 0o 347 87
Options:

1. % 420 707

o % 450 w0
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= & 00 T
4 ® 720 w0

Question Number : 51 Question Id : 9662318085 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Two nurmbers are in the ratio 2 4, 5 is subtracted from each of the numbers and the ratio becomes 5 ¢ 7. Find
the srraller nurrber,

Options:
1. % 27
2 ¥ 30
3. % 33
4 % 28

Question Number : 51 Question Id : 9662318085 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
STEEIN 3 0 4 & U H B, Uedw SET 9§ 5 USET AT ¢ R 9 S S 7 RN 51 90 | B ST ST W

Options:
1. % 27

2. ¥ 30
3. % 33
4. % 36

Question Number : 52 Question Id : 9662318086 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Inabag, thereare coins of 25 p, Rs. 1and Bs 2intheratic of 8: 5 2 Thereis Bs. 78 in total, how many 25
P COIs are there?

Options:
1. % 24
= % 32
3. % 40
4 ¥ 48

Question Number : 52 Question Id : 9662318086 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TFaTHE: 5 3% aqu § 25 39, 1 o2 ol 2 w02 & 183 81 951 3 78 o0 &, Fa8 25 I o T g 87
Options:

1. % 24

2 % 32
2. % 40
4. ¥ 48

Question Number : 53 Question Id : 9662318087 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

There iz a 45% increase in an amournt in 9 years at simple interest. What will be the compound interest of Es.
12000 after 2 vears at the same rate?
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Options:
1. ® Rs. 1760

2. % Rs. 1820
3. ¥ Rs 18915
4 % Rs 1854.25

Question Number : 53 Question Id : 9662318087 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ATTEOT S 0T 3 el H o e # 45% 1 g g2 81 T6 S0 W 3 a o &g 12,000 F0 T Tehe g w0 T § 17

Options:
1. % 1760 =03

= ® 15z0 w0
2 % 18915 &0
4 ® 1854 25 v

Question Number : 54 Question Id : 9662318088 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A worker travelled a distance of 128 kmin 15 hours. He travelled partly by foot @ & kimjh and partly by
bicycle @ 12 krmjh. what is the distance travelled on foot?

Options:
1. % 20
2 % 38
¥ 42
4 % 48

Question Number : 54 Question Id : 9662318088 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T BFA] o 15 T H 133 ToFaT 1 981 T 60 T8 S1ides &0 8 0ot 6 Tl | oo off siidiey &0 & Wrgieeet o€ 12 TpAT | TeT
T I ¥ AT N U AT bl gL et 27

Options:
1. % 20
=z % 38
3.9 42
4. % 48

Question Number : 55 Question Id : 9662318089 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A& can finish a job in 24 days. B can do the jobin 18 days. After working together for 12 days, B left the job. In
how many days can & finish the remaining work?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1.6

2 8

3. 12
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4. 24

Question Number : 55 Question Id : 9662318089 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A 24T AUF FA O W AFAT R B, 18 R A s FW e aFar ) 12 Al dF UF O FH fe- F a1, E S a5 FH TS
Teem & s el o e At o ORT @ e 57

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1.6

2 8

3 12

4. 24

Question Number : 56 Question Id : 9662318090 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A& can finish a job in 32 days. B can do the job in 20 days. After working alone for 15 days, E left the job. In
how many days can & finish the rermaining work?

Options:
1.¥8
Z w12
3 % 18
4, % 20

Question Number : 56 Question Id : 9662318090 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A, 32 Teat # U oA 990 I AFdT 5 B 9 FH @ 20 At # e a1 51 15 241 9% el F T fi- F A, E T g ;I Fis
Temm A 3w el w6 Rea feA! | O3 @ awar 27

Options:
1.¥ 3
2 %12
2. % 18
4 % z0

Question Number : 57 Question Id : 9662318091 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

The length of a rectangular plot is 20 m more than the breadth. The cost of fencing the plot @ Rs. S per mis
Es. 2200, What is the length of the plot?

Options:

1. % 100m
Z % 110m
3. ¥ 120m
4. % 140m

Question Number : 57 Question Id : 9662318091 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 1007
2 % 1109
= ¥ 1200

4 ® 1404t

Question Number : 58 Question Id : 9662318092 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

110 cubic centimetres of a copper wire is drawr into a wire of 2 mm in diameter. What is the length of the
WIre?

Options:

1. % 175m

2 ¥ 35m

3. % 70m

4. % 1401m

Question Number : 58 Question Id : 9662318092 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
110 o= HHTTT 200 a1 3Te & 9% & 2 10T &7 T R SaT 51 T 6 ddTE 59 57

Options:
1. % 1754

= & 35 0T
3 ¥ FoOr
4 ® 1409

Question Number : 59 Question Id : 9662318093 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The following table shows the expenditure incurred ({in 000s) by a company in different departments over the
years, What 15 the ratio of total expenditure incurred over the yvears in IT departrment to Operations
departrment??

Years IT Operations| Marketing HR
2015 220 250 200 120
2016 320 350 300 250
2017 410 500 400 320
2018 450 500 450 410

Options:

1. % 25

Z % 3z

3.9 75

4 % 97
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Question Number : 59 Question Id : 9662318093 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Torg qficteeT # (0005 H) U Fu-T &R 5 aui # T Tenamt § Torg 70 cog &t S 7= 21 5a+ a9 | simeat T o uiame
TEraTIT @ o T S SR ST ST T 77

A=

Tut ATt Hares (oo [§eres
2015 220 250 200 120
2016 320 350 300 250
2017 410 500 A00 320
2018 A50 500 450 A0

Options:

1. % 2g

> %3z

¥ 7B

4 ® g5

Question Number : 60 Question Id : 9662318094 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The following histogram shows the revenue of service sector (in billions) over different vears. What is the
percentage increase in the revenue of service sector from 2017-2018 to 2019-20207

SO0
450
g 400
5 . %0
E 5 150
200
S0
100
F015-2020  FOLE-F0IY  JOAT-20LE  2OIE-20LT 20052016
Yoar
Options:

1. % 90.05 percent
2. % 75.21 percent
3. ¥ 36.67 percent
4, % 522 percent

Question Number : 60 Question Id : 9662318094 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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g

450 420

T &= & TAE
BEE8

o8 EYE

1019-2020  2018-2019  2017-2018  2016-2017
af

2015-2016

Options:

1. % 90.05 uideT
2 % 7521 nidem
3. ¥ 5667 UideaT
4. % 522 uidaT
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Question Number : 61 Question Id : 9662318095 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it. If the sentence is free frorm error, select the "No error”
option.

(&) There is no question | (B) of Radha's failing | (C) in the examination. | (D) No error
Options:
1. % 4
= ¥ E
3% C
4 % D

Question Number : 61 Question Id : 9662318095 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following staternent, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it. If the sentence is free frorm error, select the "MNo error”
option.

&) There s no question | (B) of Radha's failing | i) in the exarmnation. [ O Mo error
Options:
1. % 4
= ¥ B
3%
4 % D

Question Number : 62 Question Id : 9662318096 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following staternent, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it. If the sentence is free from error, select the Mo error”
option.

(&) Anldt wrote her [ (Bla very long message [ (C) but she didn' read it (D) Mo error
Options:
1. % 4
2. % E
3% C
4 ¥ D

Question Number : 62 Question Id : 9662318096 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

In the following statement, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it. If the sentence is free frorm error, select the "No error”
option.

&Y Akt wrote her [ (B a wvery long message | C) but she didn't read it | (D) Mo error
Options:
1. % A
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> ®F
3 % C
4 ¥ D

Question Number : 63 Question Id : 9662318097 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Replace the words in the bracket from the set of options given.

The floor of his roormn was (covered upon) marble.
Options:

1. # covered by

2. % covered at

% % covered in

4 % covered with

Question Number : 63 Question Id : 9662318097 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Replace the words in the bracket from the set of options given.

The floor of his roorm was (covered upon) rmarble.
Options:

1. ® covered by

2. % covered at

3. % covered in

4. ¥ covered with

Question Number : 64 Question Id : 9662318098 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Eeplace the words in the bracket from the set of options given.

Ashirma hasn't eaten (from) breakfast and she is very hungry.
Options:

1. % pefore

2 % 1o

3 % with

4. ¥ since

Question Number : 64 Question Id : 9662318098 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Replace the words in the bracket from the set of options given.

Ashima hasn't eaten (from) breakfast and she is very hungry.
Options:
1. ¥ pefore

o B
I # with
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4 % since

Question Number : 65 Question Id : 9662318099 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in the blanks with the appropriate word.

Don't step _____ the broken glass.
Options:
1.9 an
2 % in
3 % of
4 % at

Question Number : 65 Question Id : 9662318099 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in the blanks with the appropriate word.

Don't step _____ the broken glass.
Options:
1. ¥ on
2 % in
3. ® of
4 % gt

Question Number : 66 Question Id : 9662318100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The questions below consist of a set of labelled parts of a sentence. Out of four options given, select the most
logical order of the parts which form a coherent sentence.

Adolf Hitler said

F : would be hanged
2 who Ao not obey
E : those persons

5 ¢ his commands

Options:

1. ¥ RQSP
2. % QFRS
3. % PSGR
4, % RSP

Question Number : 66 Question Id : 9662318100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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The questions below Cconsist of a set of labelled parts of a sentence. Out of four options given, select the most
logical order of the parts which form a coherent sentence.

Adolf Hitler said

F : would e hanged
o who do ot obey
E : those persons

5 his commmands

Options:

1. ¥ ROSF
2. % QPRS
3. % PSOR
4. % RSPO

Question Number : 67 Question Id : 9662318101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
out of the four alternatives, choose the word which best expresses the meaning of the Zivern word.

Censure

Options:

1. % Appreciation
2. % Approval

3. % Seize

4 ¥ Conderrn

Question Number : 67 Question Id : 9662318101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Cut of the four alternatives, choose the word which best expresses the meaning of the given word.

Censure

Options:

1. ¥ Appreciation
2. % approval

3 ® Seize

4 ¥ Conderrn

Question Number : 68 Question Id : 9662318102 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Out of the four alternatives, choose the word which is OFPOSITE in meaning to the given word,

Stringent
Options:

1. % Firm

2. % Rigid

3. % Lenient
4. % Artificial
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Question Number : 68 Question Id : 9662318102 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Out of the four alternatives, choose the word which is OFPOSITE in meaning to the given word,

Stringent
Options:

1. % Firm

2. % Rigid

3. % Lenient
4. % Artificial

Question Number : 69 Question Id : 9662318103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word,
Options:

1. ® Milennium

2. ¥ Millenmniurm

Z. % Milleniuurm

4 # Millineum

Question Number : 69 Question Id : 9662318103 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:

1. % Milenium
2. % Millenniurn
% % Milleniuum

4. ® Millineum

Question Number : 70 Question Id : 9662318104 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options:

1. # Ventraloquist

2. ¥ Ventriloguist

= % Ventreloguist

4. % Ventralogqust

Question Number : 70 Question Id : 9662318104 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:
1. # Ventraloquist
2. ¥ Ventriloguist
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2. % Ventreloguist
4, % Ventralogqust

Question Number : 71 Question Id : 9662318105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word 15 spelt correctly, Choose the correctly spelt word.,

Options:

1. % Surreptious
2. % Sureptious
= % Surpetious
4. ¥ Surreptitious

Question Number : 71 Question Id : 9662318105 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:

1. ® Surreptious
2. % Sureptious
= % Surpetious
4, ¥ Surreptitious

Question Number : 72 Question Id : 9662318106 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What does the fOllDWiﬂg idicm mean’?

[wory toweer

Options:

1. ® 4 state where an individual is going through hardships in life.
2. % A state of strong mindset like a tower of steel,

3. % 4 state of involverment in everybody's personal problems.

4. ¥ 4 state of seculation from the hardships of practical problems of real life.

Question Number : 72 Question Id : 9662318106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What does the fOllOR-'-.?'iI]g 1dicorm mean’

[vory tower

Options:

1. % 4 state where an individual is going through hardships in life.
2. % & state of strong mindset like a tower of steel.

= % 4 state of involvernent in everybody's personal problems.

4. ¥ 4 state of seculation from the hardships of practical problems of real life.

Question Number : 73 Question Id : 9662318107 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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what does the following idiom mean?

End in smoke

Options:

1. ¥ To not produce concrete or positive results,
2. % Tostart a fight with someone.

3. % Tosay negative things about someone else.

4. % Toend a fight with someone.

Question Number : 73 Question Id : 9662318107 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
what does the following idiom mean?

End in smoke

Options:

1. % To not produce concrete or positive results.
2. % Tostart a fight with someone.

= % Tosay negative things about someons else.

4. % Toend a fight with someone.

Question Number : 74 Question Id : 9662318108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of four alternatives, select the alternative which is the best substitute of the
wiords [ sentences.

& person who 15 pretending to be somecre he 15 ot
Options:

1. ® Statesman

2. ¥ Impostor

% % Sycophant

4. % Philogynist

Question Number : 74 Question Id : 9662318108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following questiorn, out of four alternatives, select the alternative which is the best substitute of the
words [sentences.

A person who is pretending to be somecne he is not
Options:

1. # Statesman

2. ¥ Impostor

= % Sycophant

4. % Philogynist

Question Number : 75 Question Id : 9662318109 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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In the following questiorn, out of four alternatives, select the alternative which is the best substitute of the
words [sentences.

& poern or speech at the end of the play.
Options:

1. ¥ Epilogue

2. % Monologue

2. % Euphony

4. % Lecture

Question Number : 75 Question Id : 9662318109 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, cut of four alternatives, select the alternative which is the best substitute of the
wiords | sentenceas.

A& poern or speech at the end of the play.
Options:

1. ¥ Epilogue

2. % Monologue

2. % Euphony

4. % Lecture

Sub-Section Number : 2
Sub-Section I1d: 966231347
Question Shuffling Allowed : Yes

Question Id : 9662318110 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Cuesticon Label | Comprehension

Read the passage carefully and answer the given question:

In 1772, when Warren Hastings was appointed the first Governor General of the Company's Indian territories,
one of his first undertakings was the rapid expansion of the Company's army. Since the available soldiers, or
Sepovys, from Bengal- many of whormn had fought against the Eritish in the Eattle of Plassey (22 June 1757,
WETE Now Suspect in British eves. Hastings recruited the soldiers from the high castle rural Rajputs and
Brahrmans of Oudh and Eihar, a practice that continued for the next 75 years. However, in order to forestall
any social friction, the Company also took pains to adapt its military practices to the requirement of their
religious rituals. Consequently, these soldiers dined in separate facilities; in addition, overseas service,
considered polluting to their caste, was not required of therm, and the army soon came to officially recognize
Hindu festivals.

Sub questions

Question Number : 76 Question Id : 9662318111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who was the first Governor General of the Cornpany's Indian territories?

Options:
1. % Lord Mountbatten
2. % John Shore
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= # Lord Cornwall

4, ¢ warren Hastings

Question Number : 77 Question Id : 9662318112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Whern was the first Governor General of the Company's Indian territories appointad?

Options:

1. % 1757
= % 1778
3. ¥ 177z
4 % 1775

Question Number : 78 Question Id : 9662318113 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who were the suspects in the British eyes?

Options:

1. ¥ The Rajputs and Erahmans
2. % warren Hastings

=, ¥ Soldiers from Bengal

4. % Those residing in Cudh and Eihar

Question Number : 79 Question Id : 9662318114 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
whern was the Eattle of Plassey fought?

Options:

1. 1757
o ® 1772
3. % 1775
4, % 1760

Question Number : 80 Question Id : 9662318115 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Frorm where did Hastings recruit the soldiers?

Options:

1. ¥ From the Bengal

2. % From other countries

Z. % From the people who participated in the Battle of Plassey.

4. % From the rural Eajputs and BErahmans of Oudh and Eihar.

Question Id : 9662318110 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Cuesticon Label | Comprehension
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Read the passage carefully and answer the given question:

In 1772, when Warren Hastings was appointed the first Governor General of the Company's Indian territories,
one of his first undertalkings was the rapid expansion of the Company's army. Since the available soldiers, or
Sepoys, from Bengal- many of whorn had fought against the Eritish in the Eattle of Plassey (22 June 1757),
were row suspect in Eritish eyes. Hastings recruited the soldiers from the high castle rural Rajputs and
Erahmmans of Oudh and Eihar, a practice that continued for the next 75 years. However, in order to forestall
any social friction, the Company also took pains to adapt its military practices to the requirement of their
religious rituals. Consequently, these soldiers dined in separate facilities; in addition, overseas service,
considered polluting to their caste, was not required of thermm, and the army soon came to officially recognize
Hindu festivals.

Sub questions

Question Number : 76 Question Id : 9662318111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who was the first Governor General of the Company's Indian territories?

Options:

1. % Lord Mounthatten
2. % John Shaore

3. % Lord Cornwall

4. 9 Warren Hastings

Question Number : 77 Question Id : 9662318112 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When was the first Governor General of the Company's Indian territories appointad?

Options:

1. % 1757
=z ® 1778
3. ¥ 1772
4. ® 1775

Question Number : 78 Question Id : 9662318113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwho were the suspects in the Eritish eyes?

Options:

1. % The Rajputs and Brahmans
2. ® ‘Warren Hastings

3. ¥ Soldiers from Bergal

4. % Those residing in Cudh and Bihar

Question Number : 79 Question Id : 9662318114 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When was the Battle of Flassey fought?

Options:
1. % 1757
> ® 1772

3. % 1775
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Question Number : 80 Question Id : 9662318115 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Frorm where did Hastings recruit the soldiers?

Options:

1. ¥ From the Bengal

2. % From other countries

Z. % From the people who participated in the Battle of Plassey.
4. % From the rural Rajputs and Erahmans of Qudh and Eihar.
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Question Number : 81 Question Id : 9662318116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT vg , gr et # € 39 Been @1 50T @ S 30 & 797 81

Options:

1. % TSeiTgEe
2. ® g

3. % TEdr

4. ¥ Tomio

Question Number : 82 Question Id : 9662318117 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % ggq
2. ® e
3. ¥ amHteT
4. % TR

Question Number : 82 Question Id : 9662318117 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % ggqg
2. ® T
3. ¢ aHfeT
4 % fagmT
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEmET ng H, ox Tweat # €, e s & W Feager IRT ey # o9e 75

Options:

1. v FwEn
o ® Faiw
3 % T
4. ® FIW

Question Number : 83 Question Id : 9662318118 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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1. v g
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Options:

1. % weamE

2. ¥ HEITAEE

= ® giAaEE

4 ® TR

Question Number : 84 Question Id : 9662318119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % waamE

2. ¥ FEaEE

3. ¥ giAmaEE

4. % TUERER
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Options:

1. ¥ g
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4 % Tegt

Question Number : 85 Question Id : 9662318120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Correct Marks: 1 Wrong Marks: 0.25
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1. % wfer

2 ¥ it
3 ® oA
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Correct Marks: 1 Wrong Marks: 0.25
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1. % ey
2 ¥ Fiee
3 % ma
4 % e
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1. ® guzm
2 % gufd
3 ¢ T
4. % aFT
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Question Number : 88 Question Id : 9662318123 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ng |, oW fwed! § 8, 39 51 Twed @7 =0 @ =1 aaiat o @0 UF deg @7 foded 51

FAawT FE TRaT T 5N
Options:

1. ¢ Fegar

2 ® e

2 % e
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Correct Marks: 1 Wrong Marks: 0.25
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Correct Marks: 1 Wrong Marks: 0.25
oty va §, ox Seedt § €, 39 Swey @ o9 = 1 oy my ggrat @1 a5t anf arer Hee g1

T &
Options:

1. % T a=7m
o, % T e
=, o T g
4, % Fgad Fm

Question Number : 94 Question Id : 9662318129 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ty vg §, ox Bt 8 9, 39 Swer @1 o9 =0 A1 g mo ggrae &1 951 anf arer aee g1

T &
Options:

1. % T a=m
2. % FHTH Fen
3. ¥ "y FAn
4, ® Hgag g

Question Number : 95 Question Id : 9662318130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
THmET vg H, ox Hweat # €, 39 Teen o1 oo ) A1 Ty Ry g 9w @ |@ef Hwed gn

Options:

1. ¢ TR AN STg #1C T
2 % WG, 9N SkE /W
3. ® TgR- | Eg 71
4 % TR AW ST A M7

Question Number : 95 Question Id : 9662318130 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tty vg §, ox Bt 8 €, 39 Swe @1 o9 = A1 foem g g% o9 @7 9gt iweT gn

Options:

1. ¥ WX AW ST 7 T
2 % HIgK, 9N S 77
3. % WEgR- |8 g 7K
4 % FgRl AW ST A M7

Sub-Section Number: 2
Sub-Section Id: 966231349
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Question Shuffling Allowed : Yes

Question Id : 9662318131 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)
Cesticn Label | Comprehension

el Tem T e F wne S wey U T B 5 M Y e ® 0 o7 A Hwedt # § g Wy W A ad o] O

T AT T 5T, AT S 37 W EIdT 5, T caraTH sl AT 1T 8 5T, TR o TaeT Ao Toeal a1 75 TedT & oiidd

el FETd &1 372 Had giehl, o e, Feale, T ST g ﬁ@wmmgw%wmm T
=T S o Tl 21 gl A o Tel] 4T siTdewe &, o 31 0ed I & AR A & T60 |7 S84 31 U glad o & (WXl agl 5,
Fomer Tt s | Faeer 79 &7 e 21

Sub questions

Question Number : 96 Question Id : 9662318132 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
SThe W STTHR TS 1 STATH T ST aawmdT F a1 87

Options:

1. % g W g
2. % Fiear e & forg
3. %y & foy

4. T T &

Question Number : 97 Question Id : 9662318133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tor Ty Teeent H 9 e @ e a7

Options:
1. ¥ =T TFE

2. % grgw ug-n
= ® 1t o

4. % 1A

Question Number : 98 Question Id : 9662318134 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Te g Teredt # & A e e o 57
Options:

1. ® grmarm

Question Number : 99 Question Id : 9662318135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
=0 & I - A7 T @ vt g e
Options:

1. & apEaeer

2 % OIHE
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Question Number : 100 Question Id : 9662318136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T et W HIE JUgE S
Options:

1. % e @7 e

2. o T AT EA

2 ® fnit e

4 % setfew SAta

Question Id : 9662318131 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)
Juestion Label - Comprehension

Tl Te T e F wE S 0 TS0 TR B 5F TN W e AmgE® 0g ) A dwed! § # Fodder W W aa ol o] g

T g g gaT, T A arg & g1 5, IaAT ararH o HT 51T 81 5T, T o feer ﬁmﬁﬁm%ﬁjﬁr
i ate o To 2t gt A o ot o1 anareaer 8 O BT S S o |- A o o ot et 31 Uw wEred 7o Rt agt 2
Forerer Tt antie & wareer o @7 e

Sub questions

Question Number : 96 Question Id : 9662318132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Sehe, o STJHR S & ST @ AT aaeEdT F41 gid | a7

Options:

1. % vag g @ T
2. % NIt F
3 % g o g

4. g R

Question Number : 97 Question Id : 9662318133 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o My et # & ameiivar wref o 7

Options:
1. ¥ A 9T

2. ® gEqo ugeAr
3. ® i ferer

4. ® TET AT

Question Number : 98 Question Id : 9662318134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o Ty et # W A e T 57
Options:

1. % ggraHEr
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Question Number : 99 Question Id : 9662318135 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T & I - T RN o e g 2

Options:

1. & aFaeer
2 % TR
3 % TR
4 % IWEH

Question Number : 100 Question Id : 9662318136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
=H A T PIE IUgH Je
Options:

1. % Faeg @7 anf

2. o T AT EA

3. % TR e

4 % gitteer Sae

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Revisit allowed for view? :
Revisit allowed for edit? :
Break time:

Group Marks:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Section Id :

Section Number :
Section type:
Mandatory or Optional:
Number of Questions:

Number of Questionsto be attempted:

Section Marks:
Display Number Panel:
Group All Questions:

Disciplinel

6
966231199
0

0
No
No
0
20
Yes
0

0

Disciplinel
966231314

1

Online
Mandatory
20

20

20

Yes

No
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A,

Sub-Section Number: 1
Sub-Section 1d: 966231350
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 9662318137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A bluish appearance of the skin and mucous membranes caused by inadequate oxygenation is called:
Options:

; % dyspnoea

- % hypercapnia

5 w bradypnoea

4  CYanosis

Question Number : 101 Question Id : 9662318137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TF AT TT S HOAT AU Fr g9 ¥ F=97 AR oA Bieer H B@e &ar § 39 F4r Fer S 22

Options:

1 ® GHT

o w TSIt
5 % SSIeAdT
4 v TEATEE

Question Number : 102 Question Id : 9662318138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The term infant is used for a child of age:

Options:
1 % 0-2 months

5 2 months - 1 year
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A,

5 % I - 4 years

4 R I - 10 vears

Question Number : 102 Question 1d : 9662318138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ﬁmm#aﬁ#ﬁvﬁﬁgmmﬂﬂmﬂmmﬁ?
Options:

L x 0-2 7=

s v 2 RS H 1A
s % 1-439

4% 1-10 39

Question Number : 103 Question Id : 9662318139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A system which provides support with a variety of joints that enable a wide range of movements is:

Options:
, w thespine and discs

~ « the skeleton

5 u the peripheral nervous system

4 = the central nervous system

Question Number : 103 Question Id : 9662318139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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HeTH Fiar ¢ a7 47 27

Options:
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Question Number : 104 Question Id : 9662318140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Prone position is:

Options:

 lying face sideways

DR o

- # lying face upwards

5  lying face downwards

4 = turning upwards

Question Number : 104 Question Id : 9662318140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

gaur TRufa T 272

Options:
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. % W@ FUT W AR FH oAl
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Question Number : 105 Question 1d : 9662318141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A deposit of food and bacteria on the teeth. which may produce tartar and dental caries is called:

Options:
, « Plaque

- u oral hygiene
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= % stomatitis

4 w tenting

Question Number : 105 Question Id : 9662318141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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o ® Fﬁﬁﬂ?m
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Question Number : 106 Question Id : 9662318142 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
An eating disorder in which binge eating is followed by depression and guilt, self-induced vomiting and purging is:

Options:
, = dysphagia

> « bulimia nervosa

= % anorexia nervosa

4 = binge eating disorder

Question Number : 106 Question Id : 9662318142 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 107 Question 1d : 9662318143 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
BMII is calculated by using the formula:

Options:
i i g
. » Wweight (kg) = height (m)~

> % height (m)?/ welght (kg)

-  Weight (kg)/ ileigi?n:{un2

, % weight (Ib) + height (m)?

Question Number : 107 Question Id : 9662318143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
SreATE F 0T fFE GF FT IIART FF A AT g2

Options:

| w o (Rre) x F=g (3)°
o« TR () T (FoRe)
. o T (fa) [ =g (F)?

, x g (df5) + TS ()2

Question Number : 108 Question Id : 9662318144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A child grasps fingers when palm touch occurs at the age of:

Options:
1 « 4 weeks

> #% 4 months
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= % 06 months

4 % 9 months

Question Number : 108 Question 1d : 9662318144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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4 % 9 T

Question Number : 109 Question Id : 9662318145 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The amount of air exhaled from lungs as water vapour is about:

Options:
1 % 100 ml

o « 500 ml
% % 1000 ml

4 % 1500 ml

Question Number : 109 Question Id : 9662318145 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T T & & H BhEr T Fhde Jeir &1 H AT e aar g r 872
Options:
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A,
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Question Number : 110 Question Id : 9662318146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Sleep walking in medical terms is:

Options:
1 % Insomnia

- u hypersomnia
= % somnolent

4 + somnambulism

Question Number : 110 Question Id : 9662318146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Rifecmr 7 = ¥ dic & I FF F Fed &7

Options:
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2.%‘?3'71?"'%'31-r
S_R-‘\qﬁﬂ?‘nﬁ%

AT o=TH
4 ¢ 2

Question Number : 111 Question 1d : 9662318147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following clinical signs is NOT related to confirming the death status of the patient?

Options:
, = Noevidence of pulse

- = Pupils fixed and dilated

5 w Noevidence of respirations or blood pressure
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A,

4 « Movements of limbs

Question Number : 111 Question Id : 9662318147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 112 Question Id : 9662318148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The presence of bilirubin in urine indicates:
Options:

1 # renal stones

- u raised blood glucose levels

5 o indicate biliary disease

4 = malignancy

Question Number : 112 Question 1d : 9662318148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
77 # Rreietaa @ safeufa a1 sRa & 82
Options:
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Question Number : 113 Question 1d : 9662318149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Haemorrhage in a new-born is caused by the deficiency of:

Options:
1 % vitamin A

> % Vitamin D
%z % vitamin E

4 « vitamin K

Question Number : 113 Question 1d : 9662318149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 114 Question Id : 9662318150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The carrier for acyl groups are:
Options:

1 % retinol

-~ u tocopherol

-  Ppantothenic acid
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A,

4 % Dniacin

Question Number : 114 Question 1d : 9662318150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 115 Question Id : 9662318151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Vitamin B12 and folic acid deficiency causes:

Options:
; = iron deficiency anaemia

5 o megaloblastic anaemia

z % sickle cell anaemia

4 % thalassemia

Question Number : 115 Question Id : 9662318151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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A,

Question Number : 116 Question Id : 9662318152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wilson's disease is associated with:
Options:

; = amylase

> % creatine kinase
=  ceruloplasmin

4 % lipase

Question Number : 116 Question Id ;: 9662318152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 117 Question Id : 9662318153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

pH is the negative logarithm of the concentration of:
Options:

1 % calcium ions

> % nagnesium ions

- % potassium jons
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4 « hydrogen ions
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Question Number : 118 Question Id : 9662318154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A method of self-observation of an individual of their own mental status directly and by use of their memory is called:

Options:
1 & Lil'[l'DSpECTlOIl

- % observation

5 % experimental

4 % clinical
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Question Number : 119 Question Id : 9662318155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Name the drive that becomes active when the physiological balance within our body, called homeostasis, is disturbed:

Options:
1 % social drive

-  physiological drive
5 ® personal drive

4 # unconscious drive
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Question Number : 120 Question Id : 9662318156 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the type of reinforcement that increases the possibility of a response by presenting a pleasurable stimulus after a
desired response:

Options:
1 #% continuous reinforcement

- » partial reinforcement
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5 « positive reinforcement

4 w Dhegative reinforcement
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Sub-Section Number: 1
Sub-Section 1d: 966231351
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 9662318157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A defence mechanism in which original goals or desires are substituted by others is called:

Options:
. = Pprojection

displacement

P
i

= % sublimation

4 « substitution

Question Number : 121 Question Id : 9662318157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 122 Question 1d : 9662318158 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

This phase is so named because it is when the follicles in the ovary grow and form a mature egg. Name the phase:
Options:
, « follicular phase

- % ovulation

5 u luteal phase
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4 % menstruation
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Question Number : 123 Question Id : 9662318159 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Name the phase in the endometrial cycle that begins as the spiral arteries mpture secondary to ischemia, releasing blood
into the uterus, and the sloughing of the endometrial lining begins.

Options:
, = Proliferative phase

- = Secretory phase

5 % Ischemic phase

4  Menstrual phase

Question Number : 123 Question 1d : 9662318159 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 124 Question Id : 9662318160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Clients with a diagnosis of HIV or another sexually transmitted infection should be screened for:

Options:
; = hepatitis

> % Cchlamydia

5 « Syphilis

4 # gonorrhoea

Question Number : 124 Question Id : 9662318160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 125 Question Id : 9662318161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
An inflammatory state of the upper female genital tract and nearby structures is called:

Options:
, w hepatitis

- « pelvic inflammatory disease
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5 w Syphilis

4 % gonorrhoea
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Question Number : 126 Question Id : 9662318162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Name the test where secretion is mixed with a drop of 10% potassium hvdroxide on a slide, producing a characteristic
stale fishy odour.

Options:

, = Nontreponemal tests

> % Ireponemal tests

- u Rapid plasma reagin

4 « Whiff test

Question Number : 126 Question Id : 9662318162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 127 Question Id : 9662318163 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A generic term that means inflammation and infection of the vagina is:

Options:
1 % candidiasis

- % endometriosis
5 o vaginitis

4 = pruritus

Question Number : 127 Question Id : 9662318163 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 128 Question Id : 9662318164 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The expulsion of an embryo or foetus before it is viable is called:
Options:

1 « abortion
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- % medical abortion

5 w surgical abortion

4 = iscarriage

Question Number : 128 Question 1d : 9662318164 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 129 Question Id : 9662318165 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The procedure for women, that is performed postpartum, after an abortion. or as an interval procedure unrelated to
pregnancy is called:

Options:

; = fubal ligation

. % Vvasectomy

5 o sterilisation

4 % abortion

Question Number : 129 Question Id : 9662318165 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 130 Question Id : 9662318166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Male sterilisation is accomplished with a surgical procedure known as:

Options:
, = ftubal ligation

o  Vvasectomy
= % sterilisation

4 % abortion

Question Number : 130 Question Id : 9662318166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 131 Question Id : 9662318167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A barrier method in which a soft latex dome surrounded by a metal spring is used. is called:
Options:

1 % condom
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-  diaphragm

- w cervical cap

4 % contraceptive cap

Question Number : 131 Question Id : 9662318167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 132 Question Id : 9662318168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Coitus interruptus is also known as:
Options:

. standard days method

Do

> # symptothermal method

= % cervical mucus ovulation method

4 « withdrawal

Question Number : 132 Question Id : 9662318168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 133 Question 1d : 9662318169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The inability to conceive a child after 1 year of regular sexual intercourse unprotected by contraception. or the inability
to carry a pregnancy to term is known as:

Options:
1 % amenorrhea

- w dysmenorrhea

5 o infertility

4 % endometriosis
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Question Number : 134 Question 1d : 9662318170 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A wide range of recurrent symptoms that occur during the luteal phase or last half of the menstrual cycle and resolve
with the onset of menstruation is known as:

Options:
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|  Ppremenstrual syndrome

> % amenorrhea

5 » dysmenorrhea

4 = dysfunctional uterine bleeding
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Question Number : 135 Question Id : 9662318171 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Painful menstimation is termed as:
Options:

, = Ppremenstrual syndrome

> % amenorrhea

5 o dysmenorrhea

4 # dysfunctional uterine bleeding

Question Number : 135 Question Id : 9662318171 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 136 Question Id : 9662318172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Women experiencing physical changes associated with decreasing oestrogen levels, which may include irregular
menstrual cycles, sleep disruptions, mood disturbances, decreased vaginal lubrication, fatigue, vaginal atrophy, and
depression is seen during:

Options:
1 % menarche

o of menopdause

- % mmaternity

4 % labour

Question Number : 136 Question Id : 9662318172 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Correct Marks: 1 Wrong Marks: 0.25
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The Universal Immunisation Program launched in 1985 focused on immunisation against how many diseases?
Options:

> % Five
= R Two

4 % One

Question Number : 137 Question Id : 9662318173 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ifaae Setor FmA 1985 H I a1 731 of 38 FAF fhas W & Gers S W oaars
Ffea famar?
Options:

1. ¢ OF
R 9T

3.%‘33br

4_&‘@

Question Number : 138 Question Id : 9662318174 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The abbreviation ASHA . stands for:

Options:

, = Anganwadi Social Health Advisor

> « Accredited Social Health Activist
5 = Auxiliary Social Health Advisor

4 % Affiliated Social Health Activist

Question Number : 138 Question Id : 9662318174 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 139 Question Id : 9662318175 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A method to identifv missing out cases is known as:

Options:
; = testing

> o sentinel surveillance

% % notification

4 # Screening
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Question Number : 140 Question Id : 9662318176 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

When a child weighs below 31 o 5t centile, failure to gain weight over a period of time or a change in the rate of
growth that has crossed two major centiles is referred to as:

Options:
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1 « failure to thrive

> w small to gestational age

¢ Cconstitutional growth delay

 Skeletal dysplasia
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Correct Marks: 1 Wrong Marks: 0.25
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Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 966231352
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 9662318177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The premature fusion of one or more cranial sutures, either major or minor is called:

Options:
, w nicrocephaly

5 o craniosynostosis

- » macrocephaly

4 % hydrocephalus

Question Number : 141 Question Id : 9662318177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 142 Question Id : 9662318178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

By assessment, one can assign developmental quotient (DQ) for any developmental sphere. It is calculated as the:
Options:

, = Aaverage age at attainment — obtained age at attainment »* 100
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A,

- % average age at attainment - obtained age at attainment = 100

-  Average age at attainment by obtained age at attainment > 100

4 # averageage at attainment by obtained age at attainment

Question Number : 142 Question Id : 9662318178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 143 Question Id : 9662318179 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Foetal growth below the 10t percentile in terms of weight, length. or head circumference based on standardised
gestational rates is called:

Options:
. intrauterine growth restriction

- u delayed development

% % dwarfism

4 % short stature

Question Number : 143 Question Id : 9662318179 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 144 Question Id : 9662318180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT indicated by increased pulmonary blood flow that is left to right shunting?
Options:

 Atrial septal defect (ASD)

DR

-, w ventricular septal defect (VSD)

3 ® Patent ductus arteriosus (PDA)

4 Tetralogy of Fallot (TOF)

Question Number : 144 Question 1d : 9662318180 Question Type: MCQ' Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 145 Question Id : 9662318181 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The phenomenon where a newborn has an excessive birthweight of more than 4.000 g is called:

Options:
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{ % microsomia

- ¢ Iacrosomia

- % macrocephaly

4 % microcephaly

Question Number : 145 Question Id : 9662318181 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 146 Question Id : 9662318182 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Name the condition in which, bleeding usually originates in the subependymal germinal matrix region of the brain, with
extension into the ventricular systen.

Options:
, « Periventricular haemorrhage

- % Retinopathy of prematurity

%z % Leukomalacia

4 = Necrotising enterocolitis

Question Number : 146 Question Id : 9662318182 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 147 Question Id : 9662318183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Bronchopulmonary dysplasia is currently referred to as

Options:
; = acute lung disease

5 o chronic lung disease

=z % bronchitis

4 % bronchiectasis

Question Number : 147 Question Id : 9662318183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 148 Question Id : 9662318184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A breathing disorder resulting from lung immaturity and lack of alveolar surfactant is known as:
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A,

Options:
; % ischemic hypoxia

- % transient tachypnea of the newborn

-  lespiratory distress syndrome

4 ® Cyanosis

Question Number : 148 Question Id : 9662318184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 149 Question Id : 9662318185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The condition that occurs. when oxygen delivery is insufficient to meet metabolic demands is called:

Options:
, = Ccompression

> % acldosis

= # prolapse

4 « asphyxia

Question Number : 149 Question Id : 9662318185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 150 Question Id : 9662318186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is an example of gram negative bacteria?

Options:
, = Staphylococcus

5 % Streptococcus

5z % Clostridium

4 « Salmonella

Question Number : 150 Question Id : 9662318186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Question Number : 151 Question Id : 9662318187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The cell wall deficient bacteria is:
Options:
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A,

| « mycoplasma

= % vibrios

5 # actinomycetes

4 % Spirochetes

Question Number : 151 Question Id : 9662318187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 152 Question Id : 9662318188 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The organ of adhesion is:

Options:
, = fagella

> o fimbriae
= % nucleus

4 #% mitochondria

Question Number : 152 Question Id : 9662318188 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Options:
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Question Number : 153 Question Id : 9662318189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Difficulty in breathing is called:
Options:

, « dyspnea

- % apnoea

s w Dbradypnoea

4 = tachypnoea

Question Number : 153 Question 1d : 9662318189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 154 Question Id : 9662318190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fluid accumulation in tissues is called:
Options:
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1 « oedema

- # carcinoma

- % pleural effusion

4 % ascites

Question Number : 154 Question Id : 9662318190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 155 Question 1d : 9662318191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Normal blood pressure is considered to be:

Options:

; = 150/100.mm Hg

5 o 120/80 mm Hg
5 % 50/40 mm Hg

4 = 160/90 mm Hg

Question Number : 155 Question 1d : 9662318191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 156 Question Id : 9662318192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Gaseous exchange takes place in the:

Options:
1 # hose

> % trachea
= % bronchus

4 « alveoli

Question Number : 156 Question Id : 9662318192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 157 Question Id : 9662318193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Alpha 1 antitrypsin deficiency leads to:
Options:

1 % bronchiectasis


https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

A GET IT ON
Adda247 Google Play
- % bronchitis

5  emphysema

4 = pulmonary oedema

Question Number : 157 Question Id : 9662318193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 158 Question Id : 9662318194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In gout, there is an accumulation of crystals in the joints, which are made of:

Options:
1 % calcium

> ¢ Uric acid
3 % ammonia

4 = Inagnesium

Question Number : 158 Question 1d : 9662318194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 159 Question Id : 9662318195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Pain at Mcburney’s point is seen in:

Options:
, = gastritis

-  appendicitis

cholecystitis

t
i

4 % arthritis

Question Number : 159 Question Id : 9662318195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 160 Question Id : 9662318196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a sign of dehydration?
Options:

, = Decreased urine output


https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

A,

> w Dry skin

- u Hypotension

& Increased skin turgor

Question Number : 160 Question Id : 9662318196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Sub-Section Number:
Sub-Section | d:
Question Shuffling Allowed :

Question Number : 161 Question Id : 9662318197 Question Type:

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25

Colonoscopy is done to view the:

Options:
1 % stomach

- % pancreas

5  large intestine

4 = lungs
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966231353
Yes

MCQ Option Shuffling : Yes Display Question Number : Yes

Question Number : 161 Question Id : 9662318197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 162 Question Id : 9662318198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25

Hypothyroidism in adults is called:
Options:
1 % cretinism

5  Myxedema

= % Grave’s disease
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A,

4 % Addison’s disease

Question Number : 162 Question Id : 9662318198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 163 Question Id : 9662318199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Deficiency of the antidiuretic hormone leads to:

Options:
1 % diabetes mellitus

-  diabetes insipidus

= % ketoacidosis

4 = pellagra

Question Number : 163 Question Id : 9662318199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 164 Question 1d : 9662318200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A cystometrogram is done to assess the function of the:

Options:
; = lungs

o « urinary bladder
z ® gall bladder

4 % prostate

Question Number : 164 Question Id : 9662318200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 165 Question Id : 9662318201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the case of burns. the involvement of the epidermis only comes under:

Options:

, « Hirstdegree

> u second degree

5 » third degree
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4 = fourth degree

Question Number : 165 Question 1d : 9662318201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 166 Question Id : 9662318202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements is correct?
Options:

; = Sociology is a natural science

» = Sociology is a biological science

5 = Sociology is an applied science

4  Sociology is a social science

Question Number : 166 Question 1d : 9662318202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 167 Question Id : 9662318203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Name the term that is concerned with good and evil;

Options:
1 % law

o  morality
z w religion

4 % culture

Question Number : 167 Question Id : 9662318203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 168 Question Id : 9662318204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Whichof the following is NOT a vital indicator for health?

Options:
; = Mortality indicators
> # Morbidity indicators

- % Disability indicators
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4 « Health policy indicators

Question Number : 168 Question 1d : 9662318204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 169 Question Id : 9662318205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Disability limitation and rehabilitation comes under:

Options:
, ® primary prevention

-~ % Secondary prevention

5  tertiary prevention

4 = specific protection

Question Number : 169 Question 1d : 9662318205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 170 Question Id : 9662318206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following, is NOT a determinant in epidemiological triad:
Options:

1 % environment

> % host

- % agent

4 o time

Question Number : 170 Question Id : 9662318206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 171 Question Id : 9662318207 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following one is an example for ground water?

Options:
1 % Rain water
o o Springs

= % Ponds and tanks

4 % River and streams
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Question Number : 171 Question Id : 9662318207 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 172 Question Id : 9662318208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following falls under experimental study?
Options:

; = Cross-sectional study

> w Casereport and case series

5 » Correlation/ecelogical study

4 « Clinical trial

Question Number : 172 Question Id : 9662318208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

U TTT F FEd AEAeed H ¥ ST I AT 27
Options:

il -

. P8 RO 3R Fa g@er

. » Tgaey / aifeufas seaae

4 ma;ﬁw


https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

A,

Question Number : 173 Question Id : 9662318209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The disease known as plague was transmitted to humans by:

Options:
, = mmosquitoes

> o rat fleas
2 ® flies

4 = bugs

Question Number : 173 Question 1d : 9662318209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 174 Question Id : 9662318210 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If the socioeconomic status is measured using the modified Kuppuswamy scale (if a family is said to be an upper middle
class family), then the scores should lie in the range between:

Options:

1 % 30-32
5 % 26-29
= o 16-25
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Question Number : 174 Question Id : 9662318210 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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% 30 - 32

, % 26 - 29

- v 16 - 25

4% 11-15

Question Number : 175 Question Id : 9662318211 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The dissemination of microbial aerosols to a suitable portal of entry, usually the respiratory tract, is called:

Options:
1 # vector-borne

- % vehicle-borne
= « air-borne

4 % water-borne

Question Number : 175 Question Id : 9662318211 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 176 Question Id : 9662318212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks: 1 Wrong Marks: 0.25
Which of the following diseases is caused by bacterial infections?

Options:
1 % German measles

-  Meningococcal meningitis

z % Influenza

4 % Measles

Question Number : 176 Question Id : 9662318212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 177 Question Id : 9662318213 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The other name of Hansen’s disease is:
Options:

, = gonorrhoea

- # tuberculosis
= % syphilis

4 « leprosy

Question Number : 177 Question Id : 9662318213 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 178 Question Id : 9662318214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Plasmodium vivax causes:
Options:

, w dengue

> % Chikungunya fever

% « malaria

4 % filariasis

Question Number : 178 Question Id : 9662318214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option: No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 179 Question Id : 9662318215 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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A,

An example of hormonal methods of contraception is:

Options:
1 ® tubectomy

> % condom

=  depot formulations

4 % abortion

Question Number : 179 Question 1d : 9662318215 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 180 Question Id : 9662318216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option: No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Progesterone antagonist is:

Options:
, = misoprostol

-  ifepristone

5 % legesterone

4 = prostaglandins

Question Number : 180 Question 1d : 9662318216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 181 Question Id : 9662318217 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A history of three or four consecutive spontaneous abortion is called:

Options:
1 « habitual abortion
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- % threatened abortion

= % missed abortion

4 # Incomplete abortion

Question Number : 181 Question Id : 9662318217 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 182 Question Id ;: 9662318218 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Salpingectomy is the surgical removal of the:

Options:
1 ® uterus

5 o fallopian tubes

5 ® ovary

4 = Kkidoey

Question Number : 182 Question 1d : 9662318218 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 183 Question 1d : 9662318219 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Hot flashes, disturbed sleep and mood disturbances are seen during the period of:

Options:

1 % gestational diabetes

- % menarche

= # ovulation

o menopause

Question Number : 183 Question Id : 9662318219 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 184 Question 1d : 9662318220 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A treponemal test is done to diagnose:

Options:
;. ® AIDS
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o « Syphilis

- % gonorrhoea

4 % chlamydiasis

Question Number : 184 Question Id : 9662318220 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 185 Question Id : 9662318221 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Morula is a stage of:

Options:
1 % 24cells

- % 20 cells
3 o 16 cells

4. 8% 32cells

Question Number : 185 Question Id : 9662318221 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 186 Question Id : 9662318222 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The earlier biochemical marker of pregnancy is:

Options:
, w oestrogen

-  human chorionic gonadotropin

5 % progesterone

4 = prolactin

Question Number : 186 Question Id : 9662318222 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ITHTEEAT F Tg AT U ATAF AT T FIT FHgl AT 27

Options:

1%*@@3'7'r
, o EOE FIREAR ST

g_ﬁm
4_3‘3%

Question Number : 187 Question 1d : 9662318223 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The change that does NOT occur during pregnancy is:
Options:

, % Increase in plasma volume
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-  iDcrease in tone in the lower oesophageal sphincter

% % low haematocrit

4 % haemodilution

Question Number : 187 Question Id : 9662318223 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 188 Question Id : 9662318224 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The characteristic feature of true labour is:
Options:

, = lregular contractions

> % painfeltin front of the abdomen

-  contractions continue irrespective of posture

4 % contractions not getting stronger

Question Number : 188 Question Id : 9662318224 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 189 Question Id : 9662318225 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In labour, the separation and expulsion of the placenta comes under the:

Options:
; = firststage

- w second stage

5  third stage

, w fourth stage

Question Number : 189 Question Id : 9662318225 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 190 Question Id : 9662318226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Foetal head visible at the vaginal opening during labour is called:
Options:

; » Hegar’s sign
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5 o crowning

- » Chadwick’s sign

4 % hyperemesis

Question Number : 190 Question Id : 9662318226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 191 Question Id : 9662318227 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The time taken for the involution of the uterus after delivery is:

Options:
1 % 1week

> # 2 weeks
- # 4 weeks

4 « 6 weeks

Question Number : 191 Question Id : 9662318227 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 192 Question Id : 9662318228 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Vaginal discharge that occurs after the birth of a baby is called:

Options:
; % Spinnbarkeit

- % colostrum
3 o lochia

4 = fern pattern

Question Number : 192 Question Id : 9662318228 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 193 Question 1d : 9662318229 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The attitudes, values, interests and appreciations are concerned with:
Options:

, = cognitive domain
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-~ % psychomotor domain

5 « affective domain

4 = both psychomotor and cognitive domains
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Question Number : 194 Question Id : 9662318230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If a curriculum exists in the heart and mind of educators but seldom exists in reality. it is called:

Options:

, = legitimate curriculum

- u illegitimate curriculum

z % hidden Curriculum

4 « null curriculum

Question Number : 194 Question 1d : 9662318230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 195 Question Id : 9662318231 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Among the following methods, which one is a learner centred method?

Options:
1 % bedside clinic

> % lecture
- % demonstration

4  lole play

Question Number : 195 Question Id : 9662318231 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T g=faal # ¥ FiF O = RBemnff stg =T 2

Options:

, » S5UEs Al

o % TUTEHTA
. x WEAH

4 MERTH

Question Number : 196 Question Id : 9662318232 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

According to the situational theory of leadership, a person becomes a leader in spite of himself. He does not seek the
role, it is thrusted upon him by the group and by the tide of events, this type of a leader is called a:

Options:

1 « natural leader
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- % charismatic leader

% % rational leader

4 % consensus leader

Question Number : 196 Question Id : 9662318232 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 197 Question Id : 9662318233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Meta communication was classified under which of the following types of communication?

Options:
1 % Verbal communication

> #% Non-verbal communication
z « Both verbal and Non-verbal communication

4 % None of the above types

Question Number : 197 Question Id : 9662318233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 198 Question Id : 9662318234 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In a hierarchical line of command, who is responsible for non-programmed decision making in every organization?

Options:
1 % Staff nurses

- u Assistant nursing officer

- u Deputy nursing officer

i Chief nursing officer

Question Number : 198 Question Id : 9662318234 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 199 Question Id : 9662318235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In a research process, the first and foremost step happens to be that of selecting and properly defining a:

Options:
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, « Tesearch question

- u hypothesis testing

z % research methods

4 = Statistical analysis
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Question Number : 200 Question Id: 9662318236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The Likert scale is otherwise called the:
Options:

, = arbitrary scale

- % differential scale
% % cumulative scale

4 « summated scale

Question Number : 200 Question Id : 9662318236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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